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Run 5418 quartetwise, PosHalAccl/NSamplas

=== Laser O -—
Entrie=: 242
Mean: 11.9950 «/- 00108
St Dhew: 1.6750 &~ D.OOTE

=== Lager OFF ---
Entrie=: 10000
Mean: 1.3596 «- .02
Sid Dey: 0193 - D006

Run 5418 quartetwize, Diffs)

=== Laser O -—
Entries: 242
Mean: -0.67%3 < - DLODEE
Sid Dhey: 1.0516 =~ 00048

=== Laser OFF ---
Eniries: 10000
Mean: 00119 «~ 0.0025
Sid Drey: 0.2506 +~ 00078
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Run 5418 quartetwizse, Asyms)

— === Laser ON -—
[— Entries: 242
— Mean: -30.6660 +/- 0.3074
— Sbd Dwew: 4785967 4/~ L2174
— === Laser OFF ---
— Entries: 10000
— Mean: 005433 4 0.1142
— Sbd Dew: 114150 +/- 0L0S0T
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Run 5418 quartetwise, NegHalAccl/NSamplas(

=== Laser O -—-
Entries: 2421
Mean: 12,6603 +/- 00116
Sid Dhew: 17847 & 0.00&1

=== Lager OFF ---
Entrie=: 10000
Mean: 1.3476 «/- 0.0022
Sid Dev: 0.179 - 00015

Run 5418 quartetwize, Sums0

=== Laser O -—-
Entries: 242
Mean: 24,8633 & 00212
Sid Dev: 32978 - 00150

== Laser OFF ---
Entries: 10000
Mean: 27070 +- 0.0036
Sid Dev: 03582 - 0.0025
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Run 5418 quartetwise, PosHelAccd
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— Lasar O —

Erbna: 242701

Magn: H184THA19E + - 1580 2550
=5 Dwre: STEDEST A2ES & 2IND0ETID

— Lassar OFF —
Enlne: 15000

Magn: 00108 5550 <L JRE1E12

S Dwre: D3EEIE].ZIES +/- 11T.100T
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Run 5418 quartatwise, Diffsd

— Lasar O —

cnbnea: 24271
Maan: 2100143352 «- 20430621
Sid D TESTET ASTY =0 1485084010

— L OFF —
Cnlnia: 1508
Main: TFALIEDT +- 15180402
0d Dwre: JF1E0L00ES +- 24262130
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Run 5418 quartetwise, Asymsd

=== Laser ON -—
Entries: 242
Mean: -31.286% +/- 0.3040
Sid Dev: 473656 +/- L2160

=== Laser OFF ---
Entrie=: 10000
Mean: 02258 +- 0.0523
Sid Dey: 52206 +~ 00370
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Run 5418 quartetwise, NegHalAcc4

— Ly 0% —

Erlra: 24371

Magn: JSETIE FaAT 4. 1881670
22 Dwre: SASAIES SR &0 MBS S DESY

— Lussar OFF —
Erlnes: 19000
Masn: TEEE. PEOFT = 2RET 440
S [Dire: 2HET4E 2D 4= 1112132

Run 5418 quartetwise, Sums4
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Run 5418 quartetwize, Asyms Dsbg1

=== Laser O -—
Entrie=: 242
Mean: 0L00EE + - 0.0 25
St Dhey- 0U3ETO -~ 00070

=== Lager OFF ---
Entrie=: 10000
Mean: 00136 +- 0.0039
Sid Dhey: 03EET - 00027

b

1

=== Laser O -—
Entries: 242
Mean: 00073 «- 0.0008
Sid Dey: 0U1216 &~ D.O00E

=== Laser OFF ---
Eniries: 10000
Mean: 00083 +- 0.0012
Sid Drey: 001209 - 00009
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Run 5418 quartetwise, Asyms Horiz Fingar
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=== Laser ON -—
Entries: 242
Mean: -0.0015 «/- 00024
Sid Dey: 03772 &~ 00007

=== Laser OFF ---
Entrie=: 10000
Mean: -0.0059 «/- 0005
Sid Dhey: 0U50871 +~ D.00%E6
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Run 5418 quartetwize, Asyms UShg2
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=== Laser O -—-
Entries: 2421
Mean: 00096 +- 00017
Sid Dhew: 00685 - 00012

=== Lager OFF ---
Entrie=: 10000
Mean: 0LO0ET «- 0.002TF
Sid Deyv: 0068 - 00079
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Run 5418 quartetwise, Asyms DSbg2

=== Laser O -—-
Entries: 242
Mean: 00081 «- 0.0007
Sid Dev: 01112 &&= 00005

== Laser OFF ---
Entries: 10000
Mean: 00092 +/- 0.0011
Sbd Dwev: 01111 &8 0.0008

Run 5418 quartetwise, Asyms Vert Finger

0.5

=== Laser O -—-
Entries: 2d42M
Mean: -0.0068 «- 0001 &
Sid Dev: 02755 - 00073

== Laser OFF ---
Entries: 10000
Mean: -0.03010 «/- 0ODEE
Sid Dev: 03530 - 0.0025
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Run 5418 guartetwize, posH4 vs time
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Run 5418 guartetwize, negH4 vs time
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Run 5418 quartetwise, posH4 vs time
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Run 5418 guartetwize, USbg2 ve time

Run 5418 guartetwize, USbgl ve time
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Run 5418 guartetwize, DSbg2 ve time

Run 5418 guartetwize, DSbg1 ve time
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